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He designated a room for him — N2 Yo T

OVERVIEW

The Xn>>12 teaches that if a 121 deposited yan by a 98w, the 8w is obligated to
be 2van the ynm; however if n°2 12 77, then the PX7w” is not obligated to be wan.
The 8012 concludes; because it is written' 'Rx»> X', According to X959 17, the P10D
X1 XY is explaining the first case (why he is 9v2% p1p1), while according to WX 27
the P05 of [0>°n23] X¥»° XY is explaining the latter case (why P11 PR n°2 12 7m0
q¥2%). There is a dispute between "1 and M0N0 concerning the case of N°2 17 7,
whether the 7% 2> did accept nvanX (Md0IN), or he did not accept MR (°"w).

*

— 75399 1527 590 1Y YN NXIN IPINK PYY Y259 K91 20901910 ¥
“'"w9 explained that the 5% did not accept upon himself the responsibility for
the ynn that the 151 was placing in his house, but rather the >X7v” said to the 121,
‘this room is for you; where you can place your y»n (in any corner)’”.

mooIn disagrees with >"wA:
— 9123 11 NI IPAN TN NYION NI PHNY 139299 DY

And the "' has a difficulty with this interpretation; if the P> was not 9apn
nrank, why does the Xn*92 mention that the PXw° is 122 PP PR since it was
713, even if it was not 7, he should also not be 1 wab ppr.?

mooin asks an additional question:
— *N9YD $1999WT 091 TIADA D07 313 39
And also how does the X m3 conclude from this ruling of 7wa% Pp1 X that it

teaches us that renting denotes acquisition? It is possible that m¥5w is X°1p X7 and the
ORI is WY PIPT PR, since NMPINR 972p KY!

Do, 20 (x2) mnw.

2 9m 7"72 " @A states: N R DR M7 192 M2 17 779 IR KOR 1HY 1P KD 1.

? According to (moo1n understanding of) *"@A, the YX1w" is not obligated to be 7wan this y»n; since he did not accept
nnK for it.

* The X3 taught us previously (on 2,7) that if there is no n1 X then the rule is that 27X 5w A% ANK (even if the
yam is YR Hw 1n°23 and there was no N2 17 77).

> Others change the X0 to »2°71' (‘and how”).

% The question 'X>1p M°5wT XY indicates that the X m3 assumed the reason why v2a% PPt PR N2 12 7, is since
the »721 ‘rented’ this room it becomes the mw of the 131, and therefore the X w» is Wwa> ppr PX. However,
according to *"wA, it is 2% PP PR since there is no N*ANX on the *121 YW ¥nn. See following footnote # 8.
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mooIn offers his interpretation:
— 999910 NPINNI ITPONT DN 1929 YD)

And the n''= explains that the case of n°2 1% 77> can even be discussing a case

where the 2R accepted NN for the *121 %W 1¥an, and nevertheless it is 1722 PIPT X -
— 15399 105 113 81 YN RYT N K90 P90 591 DIYN)

And therefore (since we are discussing a case where N1nIR 1%y 2°2p), the Rn>92
derives this 2n°77 from the P05 of X3%° 8%, that this yan is not considered »x»

(accessible) to the & " since the X7 designated a room for the 701 where he can
place his ynn.®

mooIn anticipates the following question. X995 27 uses the 10D of X¥»> XY for the Rw™ (if 17°pon
T¥2% PIPT I9EK, ete.). How will 8" explain the X9°0 of n°212 7. Why is the 9% not required to
be wan (since according to MooIn the Xn>>12 is [even] discussing a case where nYInR 19y 20p)?
The &n»72 (according to 5"7) does not derive this rule from a 105! N9OIN replies:

— %219 1H°Y 115 9201 NOY NN N9 A

And 5''1 derives this ruling of 1v2% P11 PR N2 RS 77, logically; since he was 7
maw -

£999) HY 117533 5993 HY 1NN HY NPINN 1YY Y357 19X 9N
It is considered as if he accepted ny=nx for the y»n of a 951 when the y»nn is

physically in the house of the 9215 in which case it is obvious (according to "), that
there is no M2 217,

SUMMARY

»"w7 maintains that n°a Y7 7 is discussing a case where the PX7w° was not 2pn
nranx. However mooin maintains that even if n17nR 19¥ 9227 he is not required to
be wan if 219 77°; according to "WX 27 since it is not 02°n22 *1¥» and according to
&05 17 for it is considered as *121 5w 1N°22 *731 YW 181

THINKING IT OVER
Does 859 27 maintain X°1p m1w?!’

" The 01 of w25 PpT 1K cannot be derived from 0™AR 2w 7K ANK I8 787 70K K oW (as Moo asked on *"wA),
since we are discussing a case of n1"nX, where the M0°X of 0°71337 11 MNTPD 73p° K applies.

¥ Initially when the *wx 21 stated the 207 is derived from the P09 of 02°n22 X¥» XY, the Xn3 assumed that %2 1> 77
qv2? PPT PR, is only because it is not considered 03°n32 since X3P MW (there is no N7 of O™INR W AR ANK, since
the HX W was nInR 9apn). The Xmx concluded that even if ®°1p R M7°0w there still is no 7y°2 211, for this v is
not ¥ in the PXW> n°2 since he designated this room for the *121.

? See (¥ 7"72) ©"'NA (TR K"WwAA and HRMY N37.
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